2018-hi2-2termlanswer.tex

T3 0FE2 S WAL (B II 24) answer

1. KD X 988, y 2Rk,

(x+y)+(x+2)i=0

x, yBEETHLIS, vty x+21FFEK
TH 5,

oT z4+y=0, 2+2=0
INZRAT z=-2, y=2

. ROXE G X,

(1) (3—2i)(—2+1)
= —6+ 3i + 4i — 2i?
= —6+3i+4i —2(—1)
=(—6+4+2)+ (3+4)i
= 4470

(2 (1+vV-2)(3-v-8)
= (14 v/2i)(3 - 2v/2i)
=3 — 2v/2i + 3v/2i — 442
=1—2v2i +3v2i — 4(-1)
= (3+4) + (—2v2 + 3v/2)i
=74+ 2i

(3) (1—-14)?
=13-3-12-i+3-1.4>—4¢3
=1-3i+3(—1)—(-1)i
=(1-3)+(=3+1)
=-2-2

1 1

T+i 1-2
S 1 1+ 2

(-9  (1-20)(1+20)

(4)

1—4 1+ 24

EECES R EE?
10 142

2 5
5(1 — i) + 2(1 + 2i)

10
7 1.

T 10

2R 22 — 4+ 5 =0D 2 DODRE o,
LT3 LE, ROAXDMEE KD X,

7 LR DRSS a+B=4, aB=5
(1) o? + 2

(2) a3+ p3

= (a+8)* = 3ap(a+B)
=43_-3.5.4

2 4 a—2 A4 il

4. 2RFBR 22+ 2me+m+2=023%7% 3 2

DDIEDMEZ DL E, EB m OEDOHEH %
ko Xk,

ZD2RGBRD 2 O5DfF% o, S EL, H
Mz D T2, Zo2RGEAD, Bikd
2ODIEDIRE bODIE, KPR H IO EET
b5,

D>0T, a+8>0%»2a8>0

ZZ7T Z:mzflo(er?):mzfme
D>0&H m?2-m-2>0

Thbot (m+1)(m—-2)>0

koT m<-1,2<m ---Q@

fif EAREDBALRIC K D

a+pB=-2m, af=m+2
a+pB>04&D

—2m>0 &->T m<0 ---@
af>04&D

m+2>0 £ko>T m>-2 -.-®
O, @, @ILimiiPH% kDT
—2<m< -1

B Pr)=24+ar® +32-2a% 2 —-2T

HoZeRON12THB L E, B a DfEERK

DX,

FIRDOEIIZLD P(2)=12TH 205
24+a-2243-2—2a=12

BT 2L 2a=-2

oT a=-1

B P(x) 2 -1 THIo72RY D5, 242 TH

SRRV IB-1TH5, Plx) % (zv—1)(x+2)
TH-RY ZRD X,
P(x) % (x—1)(x+2) THl>7RD % ax + b
EBVT, FiE Qx) LT5L, ROEADIL
URVASN

Plz)=(x—-1)(z+2)Q(z)+ax+b
ZOHEXED  P(1) =a+b, P(—2) = —2a+b
£7, x —1TH->7HKDD 5THE00

P(1)=5
z+2 THl-RYDDY -1 THdIH»H
P(-2)=-1

£o57T a+b=5 —2a+b=-1
INE@ECE a=2 b=3
L723o>7T, RKOZEDITE 204+ 3



7. ROTGEAZMHE 230,
(1) z°—-1=0
T RO R % &
(x—1)(2?+2+1)=0

£-oT
x—1=0 $7i1F 2242z+1=0
L7 >T z=1, %\/&

(2) 2*—22-2=0
el KBRS % &
(22 —2)(z*+1)=0
koT 22-2=0 F&iZ 2°4+1=0
L7zioT o =42, +i

(3) 28 —422+8=0
Plz)=23-4r+8 T2
P(2)=2°—-4-224+8=0
£oT, Plx)ldae—2%2KEcbD
P(x) = (x — 2)(2%? — 22— 4)

P(z)=0%5
r—2=0 Fhiz 22-22—-4=0
Lo T =2 1++5

8. a, bIFFEHLTE, 3XHHEA 23 +ar+b=0
D1+ 2 ZIRICHDOEE, Efa, bOEER
O, £, hofEzkod X,

1420 BETH 205
(14203 +a(l14+2i)+b=0
LT (a+b—11)+ (2a—2)i =0
a, bIZEHTHI06, a+b—11, 2a—2 1
FEHTH D,
koT a+b—11=0, 2a—2=0
INEMRLE a=1, b=10
ok, HEAE 24+24+10=0
Az RWBRT 5 L
(r+2)(22—22+5)=0
L7235 T x=-2, 14+2i

% a=1, b=10, fllofix -2, 1 -2

9.a, biZ 0 THVEREL, 2 XGEK 22 +
ar+b=0D2O0DM% o, BLT 2, a+p
EaB % 2O0DMIZHD 2 XGEAD 12D,
224+ br+2a=0TH2EE, a bDfEER
X,
2RGER 22 +ax +b=01C20T, REMR
BOBRIZLD

a+B=—-a aB=b ---@
2RGER 2?2+ br+2a =0 a+B8 & aB %
2ODIZHO L E, REREDOBIRICLD
a+f+af=-b (a+paf=2a
Cc@zMRALT
—a+b=-b ---00
—ab=2a ---0B
@IZBWT, a£0&D b=-2
@kH a=2b=2-(-2)=—4
£oT a=-4, b=-2

10. a, b BFEROERE T 5, 3 XA 23+ (a—

D22+ (1—a)zr+b=0 DFEEEP . =1 721}
ThdEE, a DIHDOHFI L b Dz KD X,
=102 DHBRADETH 21025
PP+(@-1)-1+(1-a)-1+b=0
InzfReT b=-1
b=-1z/ERfRAT 2L
B4+ (a—1D22+(1-a)x—1=0
Tl RO R % &
(r—1)(2?+ar+1)=0
COHBADEEMN 2 =172 TH B DI,
XD 1], 2] DBETH B,
M 2xffEta?2+az+1=0 @
FEIRE b 7l WG
2 XS RAOOHMNAZ D L5 5L
D=da’-4-1-1=(a+2)(a—2)
2 RGOV FEE Rz b 77 Did
D<0DtETH5,
2T (a+2)(a—2)<0
InzfeT —2<a<2
2] 2XABROD z =1 %EMRICHOHE
r=10FTH2015 1°+a-141=0
IhzfEd s a=-2
ntE Olda®—22+1=0%t%D, HE
r=1%b",
1], 2] &b, K2 a DEDHFIHIZ
—2<a<?2
L7d>T —2Z<a<2, b=-1



